Exam 3 Foundations of Advanced Math 3/29/19

1. The sum of two bounded functions, both with domain IR, is bounded.
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2. (a) Suppose f : R — R is an even function. Then g(x) = [ f(x)]? is also an even
function.
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(b) Suppose f : R — R is a function for which g(x) = [f(x)]* is an even function.
Then f is also an even function.
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3. If f:A — Band g: B — C are surjective functions, then g o f is surjective.
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4. If f: A > Band g: B — C are injective functions, then g o f is injective.
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5.

(a) The set of natural numbers is equipollent to the set of even natural numbers.

Twe sl o ﬁ'i’)WFD“'LM il here exiske  a
L! @ eHaw —E(Y:m 0N 36"’ +o m 6;‘1\0,1‘ .

J
Take F‘. N —>  onvén M..MVLQS‘ wbeve C(Vh = 20
— sl
D e = S = 2 = e, =V =T

MNerebore r 1S \‘n'\)ac,j—‘{ua .
() Torl oy Ve 3 n ¢ M sweh brat ‘p(”‘\ = b,
: J ,/\p\_hup\‘ ) L
V\vw)ef»f,\o) b: 2n = = =N,
Macebore F s sarjechve . By (D aurd (i) e lawe
Qroon vk o b '\;écfst‘v‘?“ exichy KN ard fre ven
(b) The set {njn € IN A n > 58} is countable. b e B - i ”b‘””' po”ﬂw\}. it

A et s coudeble ik 1c equipslent

QvaQCL oC N ’ /h/\"*} (S, ’h/{rr < xisks
. R
A \oi:s@(} o Peomn dwek seb Ao N, o culset o N

Wit Sowe

r.)mc’ﬂ.\\ N V\Z‘S'z“sg-—-%M| et

Take P:Cz |
N, - %v\\\néﬂ\\"\ nz 3’3% .

\0‘! e bon o AdAgy
—

£ () = x,

‘ \ 7 J’\\ A '1 o
Cine N \&JwN”v/\ Londho ¢

gek oA e Y2 SN2 qou.(l shiow

sy ok N, we o San iy s

rovrndoble //’/X&f//&ﬂ/

oV

i« isell @



